. . FRONT STRUT BRACE
Installation Instructions

irsta 3|z e
73 E 43985

Application i Jj #i §Y

Lexus RX200T '15-present

Components N & fd {4
(D Brace &1&12

Cross bar P E12 1pcs
Bracket-RH Z22-% 1pcs
Bracket-LH upper 32 %2-/ & 1pcs
Bracket-LH lower x28-A T 1pcs
(2 Bolt #2%% (M10x1.5x60) 2pcs
(3 Bolt %% (M8x1.25x20) 1pcs
@ Bolt #2%% (M6x1.0x25) 1pcs
® Bolt #&##% (M6x1.0x20) 3pcs
® Nut #2118 (M10x1.5-17x10) 2pcs
(D Nut 1218 (M8x1.25-12x7.5) 2pcs
® Nut Y218 (M6x1.0-10x6-2) 1pcs
© Nut plate 21855 / 1pcs
1) Washer #5] (20.8x10.7x2) 4pcs
@ Washer #5] (16x8.4x1.4) 3pcs
@ Washer #g] (12.3x6.5x1.5) 5pcs

Caution = $HI1H

«Installation is recommended to be performed by licensed mechanics with necessary tools

to ensure proper installation and safety, or damage to the product or vehicle may occur.

«Note the routing and position of wires and cables before installation. Please refer to factory manual.
Tighten bolts and nuts frimly using handtools, or with specified torque if mentioned.
 ZEFEHSHRNEERMEATENTUERZEAEEREZSE  GRIUEHERNERERSE -

o ZERIBC MEBZERBRERUE - NBESERBFM -

 FEAFHIERBEHRBIERIRLY - SIKEBRBPITENEN EH -

Instructions ¢ #& 3t B

1. Remove brake fluid reservoir bolts and move the reservoir aside to access the resevoir bracket.
FEIEERERENBR4BRAEBE—% - AR TARRSESZE -

. Install Bracket- LH upper and Bracket- LH lower to the reservoir bracket using supplied M6
bolts, nuts and washers.

(See figure 1)
ERAM6IRA% « IREIBRZES] - B -A L R XR-E T ZEEREREZR - (2EBR)

3. Install Bracket-RH. to right strut tower using supplied M8 bolts, nuts and the nut plate. (See figure

2)
EAM8E - IRIERIBIEE G XR-A ZREARBELE -
(B2EBRERD)

4. Install Cross bar to the brackets on both sides using supplied M10 bolts, nuts and washers.
ERECH M10824% - 1818 & 2T & PERE LERMAISKRE -

5. Reinstall brake fluid reservoir.
BRI RERERES S -

lllstration of installed state
ZERSTHREE




